2.

Fe(NO3)2 Hutpart xenesa 2
FeCO3 kap6oHart xenesa 2
FeSO4 cynbdat xxenesa 2
Fe(NO2)3 HuTpaT xenesa 3
FeClI3 xnopupg xxenesa 3
Fe2(S04)3 cynbdaT xenesa 3
3.

FeS04 * 7H20

Mr (FeSO4 * 7H20) = Ar (Fe) + Ar (S) + 11 * Ar (0) + 14 * Ar (H) = 56 + 32 + 11 * 16 +
14*1 = 278

Ar (Fe). 56

W (Fe) = = =0,201 unmn 20,1%

Mr (FeSO4 * H20). 278

10.

B)

1) Fe (NO3)3 + 3KOH = Fe(OH)3 (cTp. BHU3)
2) 2 Fe (OH)3 —-> Fe302 + 3 H20

3) Fe203 + 3CO > 2Fe + 3C0O2

4) Fe + 2HCI = FeCI2 + H2 (cTp. BBEPX)

5) 2FeCI2 + CI2 = 2FeCI2



